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For 1-12, create the slope intercept form (y=mx+b) based on the given information.

1)  Slope = 1,  b = -5
2)  Slope = -

1

2
,   y-intercept = 3

3)  Slope = 
1

2
,   (0, -4) 4)  Slope = 

3

5
,    (0, 5)

5)  through: (-3, -4),   slope = 
5

3

6)  through: (1, 1),   slope = -1

7)  through: (-2, 2),   slope = -
6

5
8)  through: (-4, 5),   slope = -

1

2
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9)  through: (3, 4) and (2, -1) 10)  through: (-3, -1) and (4, -3)

11)  through: (4, -1) and (5, 1) 12)  through: (-2, 4) and (0, -4)

13)  Create the equation of the line which has the same slope as 2x - 5y = 10 and the same y-intercept as 
4x + 7y - 21 = 0.
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14)  Create the equation of the line which has the same slope as 6y - 5 = 4x and the same y-intercept as 
-5x + 9y = 2.

Write the slope-intercept form of the equation of each line.

15)  

x

y

-5 -4 -3 -2 -1 1 2 3 4 5

-4

-2

2

4

16)  

x

y

-5 -4 -3 -2 -1 1 2 3 4 5

-4

-2

2

4



©Z Q2e0c1n9Y BK]untgal TSxocfotrwkasrBei ZL[LsCx.Q x QAZlplp JrqijghhStdsy grbeNs[exrpvaeyda.y f gMRaYdOeL \wlintJhi gIdnSfOitnriPtYe^ xAnlzgyeJbBrpaV k1D.

Worksheet by Kuta Software LLC

Math 9 - Analytic Geometry

Homework #2 - Writing y=mx+b Homework

Name___________________________________

Due Date________________  5T____
©V ]2o0W1h9A HKQuctxa^ dSJoofytqwvacrZeb QLsLkCM.f d WAalUl] lruiJgPhntqs] brKeWsyeNrLvfe^dZ.

-1-

For 1-12, create the slope intercept form (y=mx+b) based on the given information.

1)  Slope = 1,  b = -5

y = x - 5

2)  Slope = -
1

2
,   y-intercept = 3

y = -
1

2
x + 3

3)  Slope = 
1

2
,   (0, -4)

y = 
1

2
x - 4

4)  Slope = 
3

5
,    (0, 5)

y = 
3

5
x + 5

5)  through: (-3, -4),   slope = 
5

3

y = 
5

3
x + 1

6)  through: (1, 1),   slope = -1

y = -x + 2

7)  through: (-2, 2),   slope = -
6

5

y = -
6

5
x - 

2

5

8)  through: (-4, 5),   slope = -
1

2

y = -
1

2
x + 3



©f P2M0B1c9B ZKRuctjak cSyoAfot^wxahrleu BLoL_CF.n c fAzlwlL KrViPgvh]tcsP trPerseezrDvaeGdR.n q OMqatdgeF Dwmigtsh[ PIOntfHiunhiCtael YA^lVg\ekb`rSaR w1r.

Worksheet by Kuta Software LLC

-2-

9)  through: (3, 4) and (2, -1)

y = 5x - 11

10)  through: (-3, -1) and (4, -3)

y = -
2

7
x - 

13

7

11)  through: (4, -1) and (5, 1)

y = 2x - 9

12)  through: (-2, 4) and (0, -4)

y = -4x - 4

13)  Create the equation of the line which has the same slope as 2x - 5y = 10 and the same y-intercept as 
4x + 7y - 21 = 0.

y = 
2

5
 x + 3
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14)  Create the equation of the line which has the same slope as 6y - 5 = 4x and the same y-intercept as 
-5x + 9y = 2.

y = 
2

3
 x + 

2

9

Write the slope-intercept form of the equation of each line.

15)  

x

y

-5 -4 -3 -2 -1 1 2 3 4 5

-4

-2

2

4

y = 2

16)  

x

y

-5 -4 -3 -2 -1 1 2 3 4 5

-4

-2

2

4

x = -4


